Chapter 5 Test Review

*#1

An equation for a tangent to the graph of y = arcsin% at the origin is
(A) x-2y=0 B) x—-y=0 ) x=0 (D) y=0 (E) mx-2y=0

#2
At x =0, which of the following is true of the function f defined by f(x)=x%+e2* 2

(A) f isincreasing.

(B) f 1s decreasing.

(C) [ is discontinuous.

(D) f has arelative minimum.
(E) [ has arelative maximum.

#3
The area of the region bounded by the curve y = ¢**, the x-axis, the y-axis, and the line x =2 is
equal to
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If . d =tanx, then y=

dx

(A) %tan2x+C (B) sec’x+C (C) In|secx|+C

(D) In|cosx|+C (E) secxtanx+C
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If v =arctan(e”). then L4 =

dx
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The slope of the line tangent to the graph of y = ln(xz) at x=¢ is
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X
The area of the region bounded by the lines x=0, x=2, and y =0 and the curve y=e€2 is
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If f(x)=e"*, then f'(x)=
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iy — lo(xz_l) , then —=

(&) (mlo)lo(xz“l)
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| tan(2x)dx =

(A) -2In [ cos(2x) ] +C

(D) 2In|cos(2x)|+C

*#13

Which of the following is equal to f

(A) arcsin§+C

(D) V25-x2+C
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(B) —%ln] cos(2x)|+C

E) —};sec(z.x) tan(2x)+C
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#15
If f(x)=x%", then the graph of £ is decreasing for all x such that

@A) x<-2 B) -2<x<0 €y '>2 D) x<o0
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The area of the region bounded by the curve y =e?* _ the x-axis, the y-axis, and the line x =2 is

equal to
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Forall x>1, iff(x)zj: 1dl‘, then f'(x)=
!
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The average value of 2, on the closed interval [1, 3] is
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Forall x>1, if f(x)zjlx 1dz‘, then f'(x)=
t
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